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HP = TxRPM /5250
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P = & .l 5,3 engine power (kW)

T = & adl 2 3= engine torque (N m)

w = 44 3V 4= 1l engine angular speed (1/s)

W = 2x3.14xRPM/ 60

N = ¢ 4= s engine angular speed (rpm)

T (inch)= 63.025 xHP /RPM
T(n .m)=9.5488xkw/RpM
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T =Hp x5250/RPm

T =7x5250/1800

T =20 .41 foot.pound(ft Ibf)

Sl (B s A dissill (NLM) 1.35 &

T (N.M) =1.35 x20.41=27.5 N.M

da g J dasillinch pound 12 (&2

T( inch pound) =12 x20.41= 244.9 =245 in |bf
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(hp7 x746)=5222w

T(N.M = )= 9.5488xkw /RPM
T( N.M)=9.5488x5222/1800
T N.m=27.7 N.M
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|=p/vx1.73

| =5222/380%1.73

1=7.93

T n.m =7.93 x380x 1.73x60 /180%2x3.14
T=27.6
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